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QUESTION 1

Which two statements are true about localizing an application? (Choose two.)

A. Language codes use lowercase and region codes use uppercase letters.

B. Resource bundle files include date and currency information.

C. Language and region-specific programs are created using localized data.

D. Support for new regional languages does not require recompilation of the code.
E. Textual elements (messages and GUI labels) are hard-coded on the code.

Correct Answer: AC

A: The following examples create Locale objects for the French language in Canada, the English language in the U.S.

and Great Britain.

alLocale = new Locale("fr", "CA"); bLocale = new Locale("en", "US"); cLocale = new Locale("en", "GB");

C: Localization is the process of adapting an internationalized application to support a specific region or locale. Incorrect

Answers:

B: Resource bundle files does not include date a currency information. Date and currency information are stored in

locales, not in resource bundle files.
D: Recompilation is not necessary.
E: Textual elements are not hard-coded on the code.

References: https://docs.oracle.com/javase/tutorial/il8n/locale/create.html
http://docs.oracle.com/javaee/6/tutorial/doc/bnaxw.html

QUESTION 2

Given:
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class Worker extends Thread |
CvclicBarrier cb;

public Worker (CyclecBarrier cb) { this.cbh = cb: }
public wvoid run{)
try {

cbhb.await();
System.out.printin{il&&%er..”) ;
} catch (Exception ex%% }

ot

class Master irnp'_eme,ntls' FRunrable { // line nl
public void z@ed¥ |
SystemQ O0E .printIn (“Master..”):;

[

gt

and the code fragment:

Master master = newfMaster():;
£/ line n2

Worker worker & new Workerick):;
worker.startdy ;

You have been asked to ensure that the run methods of both the Worker and the Master classes are executed. Which
modification meets the requirement?

A. At line n2, insert CyclicBarrier cb = new CyclicBarrier(master);
B. At line n2, insert CyclicBarrier cb = new CyclicBarrier(1);

C. At line n2, insert CyclicBarrier cb = new CyclicBarrier(2, master);
D. At line n2, insert CyclicBarrier cb = new CyclicBarrier(1, master);
Correct Answer: D

public CyclicBarri#€r (int parties,
Runnableg barrierfction)

Creates a new CyclicBarrier that will trip when the given number of parties (threads) are waiting upon it, and which will
execute the given barrier action when the barrier is tripped, performed by the last thread entering the barrier.
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Parameters:
parties - the number of threads that must invoke await() before the barrier is tripped
barrierAction - the command to execute when the barrier is tripped, or null if there is no action

Reference: https://docs.oracle.com/javase/7/docs/api/java/util/concurrent/CyclicBarrier.html

QUESTION 3

Given: and the code fragment:

class Bird |

public void fly({) { System.out. p:;nt-;f':‘.:e.n fiv*): )
} i
class Penguin extends Bird (| o)

public void fly() { Systen. qqt’. print (“Cannot 0Oy™): }
} pr

class Birdie |
public static void main({Stringl[] as,-‘?g'r“ﬂ] {
fly({) -> new Bird()); i
fly | Penguin: :new) ;
}

F* YLine nl>*y

Which code fragment, when inserted at line nl1, enables the Birdie class to compile?

A static wvoid fly (Consumer<Bird> bird) ({
bird: - £flv();
} ,
B. static woid fly(Consumer<? edtends Bird> bird) {
bird.accept{) .£fly():
}
C. static void fly(SupgiRe®<Bird> bird) {
bird.get ().fly @¥®
) | fﬁ?
. static woid f@y{éupplie:{? extends Bird>» birc) ({
0 v el 05 6 B
h

A. Option A
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B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 4

Given:

import java.util.concurrent.atomic.AtomicInteger;
class Incrementor {
public static wvoid min{String[ rgs) |

AtomicInteger([] var = ne-f,.:‘\5 micInteger[S];

for {int i=0; i < S;flﬁ R |
var[i]= new ﬁb%ﬂ% nteger{}

} ;
for (int i = Dm; \3? var.length; i++) |
var[i] mentAndGet();
if -: i 2)
rii].compareAndSec(2, 4):
@yﬁﬁém out.print (var[i] + ™ “):
}
}
}
What is the result?
A.01434
B.01234
C.12345
D.11111

Correct Answer: D

QUESTION 5
Which two states are valid for a watch key? (Choose two.)

A. Does Not Exist
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B. Signalled

C. Ready

D. Not Runnable

E. Runnable

Correct Answer: BC

A watch key has a state. When initially created the key is said to be ready. When an event is detected then the key is
signalled and queued so that it can be retrieved by invoking the watch service\\'s poll or take methods. Once signalled, a

key remains in this state until its reset method is invoked to return the key to the ready state.

Reference: https://docs.oracle.com/javase/7/docs/api/java/nio/file/WatchKey.html
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